Section : General English

Q1 Complete the sentence with the appropriate option.

Question ID : 434705314
, : Status : Answered
Ratan managed to work despite the of his computer. )
Chosen Option :1
Ans o 1. unreliability Marks : 1.00
& 2. unreliably
& 3. unrelied
& 4. unreliable
@2 gSelect the word with the wrong spelling. Question ID : 434705320
Ans X 1. conceivable Status : Answered
- Chosen Option : 4
X 2. shield Marks : 0.00
W 5. frieght
& 4 counterfeit
Q.3 o S
Complete the sentence with the correct word/phrase. Question ID : 434705315
. e Status : Answered
You don’t have to come to see my mother you want to.
Chosen Option : 3
Ans X 1. ifnot Marks :1.00
X 2 s0
v 3. unless
X 4 if
Q.4 Complete the sentence with the correct word/phrase.
Question ID : 434705318
The questionnaire by most of the participants before the workshop began. Status : Answered
Ans 7< 1. had completed Chosen Option : 4
Marks :0.00
< 2. has completed
+ 3. had been completed
X 4. has been completed
Q5 In the following question, the given sentence has been divided in three parts. Select the part that has an error. If there is
no error, select option No error. Question D : 434705322
Did you saw/ the hockey match/ last night?/ No error. Status : Answered
Ans X 1. the hockey match Chosen Option :2
Marks :1.00

v 2. Did you saw
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< 3. No error
< 4. last night?
Q.6 Complete the sentence with the appropriate article.
o ) ] ) ) Question ID :434705312
Wle were driving through heavy rain when one of windscreen wipers stopped working. Status : Answered
Ans ?( 1. A Chosen Option : 1
x 2. An Marks :0.00
W 3 The
& 4 No article
Q7 In the following question, the given sentence has been divided in three parts. Select the part that has an error. If there is
no error, select option No error. Question |D 434705310
All fears were forgotten/ when the children saw the toys/ in a corner of the clinic./ No error. Status : Answered
Ans & 1. in a corner of the clinic. Chosen Option : 3
; . Marks :0.00
X 2. when the children saw the toys
X 3. All fears were forgotten
v 4 No error
Q.8 Complete the sentence with the correct word/phrase.
Question ID :434705317
Despite the good advice their parents gave them, the two brothers college. Status : Answered
Ans X 1. have quitted Chosen Option : 1
) Marks : 0.00
& 2. quitted
W 3 quit
X 4. quitting
Q.9 ’
Select the wrongly spelt word. Question ID : 434705321
Ans x 1 lega 1 Status : Answered
' Chosen Option : 2
v 2 levre Marks : 1.00
X 3. level
X 4. label
Q.10 o o
Complete the sentence with the correct word/phrase. Question ID : 434705316
. - i Status : Answered
Computer users in my office were warned a new virus.
) Chosen Option : 2
Ans 1. on Marks : 1.00
v 2. about
X 3. off
X 4 at
QN o4 : :
Complete the sentence with the appropriate option. Question D : 434705313
Th " ised the bird siiGe ke Bl healed Status : Answered
& Vel Iecognise € DIr mjuries ne nad nealed. Chosen Option : 2
Ans X1 whom Marks :0.00
< 2. who's
v 3 whose
& 4 who
Q.12
Question ID :434705308
Status : Answered
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Choose the correct antonym for the given word. Chosen Option : 4
Marks :1.00
spurious
Ans 1. useful
# 2 actual
& 3. artificial
v 4 genuine
Q_13 In the following question, the given sentence has been divided in three parts. Select the part that has an error. If there is
no error, select option No error. Question |D 434705311
She underwent surgery/ on the removal/ of a cataract in her left eye./ No error. Status : Answered
Ans  of 1. on the removal Chosen Option : 4
. = Marks :0.00
X 2. of a cataract in her left eye.
< 3. She underwent surgery
&< 4. No etror
Q-14 i : P i
Choose the most appropriate option to fill in the blanks. Question D : 434705309
Status : Answered
This winter they are plannin; holiday in Cambodia.
¥ P g ¥ Chosen Option : 2
Ans x 1. the Marks :0.00
# 2. no word required
2~ 3 an
via
Q.15 Ch th t f the underlined word.
oose the correct synonym of the underlined wor Question ID : 434705307
At these sessions, no idea is too preposterous to be thrown on the table. Status : Answered
g Chosen Option : 1
Ans 1.
J ridiculous Marks :1.00
& 2. sensible
X 3. logical
X 4. uninteresting
Q.16 Find the most appropriate word that can substitute the following phrase. )
h Question ID : 434705319
failing to observe the limits of what is permitted or acceptable Status : Answered
i g Chosen Option : 2
Ans 1. crimin
x al Marks :1.00

W 2. presumptuous
< 3. unscrupulous

/< 4. arrogant

Comprehension:
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Read the passage and answer the questions below.

On a mid-September day, British climbers Rachel
Kelsey and Jeremy Colenso were climbing in the Swiss
Alps. They were both experienced climbers and when
they started, the weather was good. They reached the
summit but as they started the climb down, an electric
storm struck the mountain.

Snow began to fall, making it difficult to see where
they could put their hands and feet on the rock. After
several frightening minutes, they found a narrow ledge
and climbed on to it, hoping the snow would stop and
they could climb down.

The snow did not stop and the temperature dropped to
-5 °C. They decided that they had to get help. Rachel
had brought her mobile phone with her. She was
unable to contact the mountain rescue service on her
mobile phone and the only contact number she had
were in London. She sent a text message at 1.30 am to
five friends in the UK. It read: ‘Need heli rescue off
north ridge of Piz Badile, Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped
into action and immediately contacted the rescue
services in Geneva. He texted Rachel back saying: 'T'm
on the case’. Even then, rescue was impossible because
of the treacherous weather and the mountain rescue
team had to send a text message to Miss de Kelsey
telling her she would have to spend a second night on
the mountain. They could reach the stranded couple
only at §.15 am the next day. At about 1.00 pm they
were lifted off the mountains in helicopters.

SubQuestion No : 17

Q.1 - 4
;. Rachel and Jeremy could not climb down because: Question ID : 434705324

i Status : Answered
An X 1. They had forgotten the route _
S . Chosen Option : 3

X 2. The mountain was very slippery Marks : 1.00

+ 3. They could not see properly in the snowfall
/< 4. Tt was very cold

Comprehension:
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Read the passage and answer the questions below.

On a mid-September day, British climbers Rachel
Kelsey and Jeremy Colenso were climbing in the Swiss
Alps. They were both experienced climbers and when
they started, the weather was good. They reached the
summit but as they started the climb down, an electric
storm struck the mountain.

Snow began to fall, making it difficult to see where
they could put their hands and feet on the rock. After
several frightening minutes, they found a narrow ledge
and climbed on to it, hoping the snow would stop and
they could climb down.

The snow did not stop and the temperature dropped to
-5 °C. They decided that they had to get help. Rachel
had brought her mobile phone with her. She was
unable to contact the mountain rescue service on her
mobile phone and the only contact number she had
were in London. She sent a text message at 1.30 am to
five friends in the UK. It read: ‘Need heli rescue off
north ridge of Piz Badile, Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped
into action and immediately contacted the rescue
services in Geneva. He texted Rachel back saying: 'T'm
on the case’. Even then, rescue was impossible because
of the treacherous weather and the mountain rescue
team had to send a text message to Miss de Kelsey
telling her she would have to spend a second night on
the mountain. They could reach the stranded couple
only at §.15 am the next day. At about 1.00 pm they
were lifted off the mountains in helicopters.

SubQuestion No : 18

@' What did Cunliffe mean by ‘I'm on the case’? Question ID : 434705326
- . Status : Answered
An X 1. I am getting lawyers _
s = Chosen Option : 4
+ 2. I am doing what needs to be done Marks :0.00

/< 3. I can’t help you

/< 4. T am coming to meet you

Comprehension:
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Read the passage and answer the questions below.

On a mid-September day, British climbers Rachel
Kelsey and Jeremy Colenso were climbing in the Swiss
Alps. They were both experienced climbers and when
they started, the weather was good. They reached the
summit but as they started the climb down, an electric
storm struck the mountain.

Snow began to fall, making it difficult to see where
they could put their hands and feet on the rock. After
several frightening minutes, they found a narrow ledge
and climbed on to it, hoping the snow would stop and
they could climb down.

The snow did not stop and the temperature dropped to
-5 °C. They decided that they had to get help. Rachel
had brought her mobile phone with her. She was
unable to contact the mountain rescue service on her
mobile phone and the only contact number she had
were in London. She sent a text message at 1.30 am to
five friends in the UK. It read: ‘Need heli rescue off
north ridge of Piz Badile, Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped
into action and immediately contacted the rescue
services in Geneva. He texted Rachel back saying: 'T'm
on the case’. Even then, rescue was impossible because
of the treacherous weather and the mountain rescue
team had to send a text message to Miss de Kelsey
telling her she would have to spend a second night on
the mountain. They could reach the stranded couple
only at §.15 am the next day. At about 1.00 pm they
were lifted off the mountains in helicopters.

SubQuestion No : 19

Q.1 i :
g How long did Rachel and Jeremy spend on the Question ID : 434705327
narrow ledge? Status : Answered
Chosen Option : 2
An o 1. More than 36 hours P
s Marks :0.00

2 2. Almost 24 hours
7 3. Around 12 hours
2 4 About 36 hours

Comprehension:

file:///C:/Users/1030832/Downloads/Qp.html# 6/34



03/03/2018 Qp.htmi#

Read the passage and answer the questions below.

On a mid-September day, British climbers Rachel
Kelsey and Jeremy Colenso were climbing in the Swiss
Alps. They were both experienced climbers and when
they started, the weather was good. They reached the
summit but as they started the climb down, an electric
storm struck the mountain.

Snow began to fall, making it difficult to see where
they could put their hands and feet on the rock. After
several frightening minutes, they found a narrow ledge
and climbed on to it, hoping the snow would stop and
they could climb down.

The snow did not stop and the temperature dropped to
-5 °C. They decided that they had to get help. Rachel
had brought her mobile phone with her. She was
unable to contact the mountain rescue service on her
mobile phone and the only contact number she had
were in London. She sent a text message at 1.30 am to
five friends in the UK. It read: ‘Need heli rescue off
north ridge of Piz Badile, Switz’. They were all asleep.

At 5.00 am Avery Cunliffe got the message. He jumped
into action and immediately contacted the rescue
services in Geneva. He texted Rachel back saying: 'T'm
on the case’. Even then, rescue was impossible because
of the treacherous weather and the mountain rescue
team had to send a text message to Miss de Kelsey
telling her she would have to spend a second night on
the mountain. They could reach the stranded couple
only at §.15 am the next day. At about 1.00 pm they
were lifted off the mountains in helicopters.

SubQuestion No : 20

@2 What did Rachel do as she was sitting on the ledge?

As“ < 1. She sent text messages to Jeremy Colenso.

+ 2. She sent text messages to friends in the UK.

Question ID : 434705325
Status : Answered
Chosen Option :2
Marks :1.00

X 3.
She sent text messages to the mountain rescue
team.

K 4

She sent text messages to friends in Switzerland.
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: Question ID : 434705340
IGr=ICIECR] -
ﬁ ﬁ aﬂ;r A ec I4T %-? Status : Answered
Ans ( 1. ;:h? Chosen Option : 1
Marks :1.00
X 2 g
X5 T
X4 B
3 + + &
a T TT AR UCToThT u'-l@' %"’ Question ID : 434705328
Ans Status : Answered
X EE) Chosen Option : 1
v 2 FI9AT Marks :0.00
X 5. HJHATH
K 4 THER
4
@ Fia-Tr M= ﬂé?-l'l'ﬂ %‘7 Question ID : 434705332
Ans 1T Status : Answered
( Chosen Option :1
x 2. 9ot Marks :1.00
X5 o
X 4 8T
.5 ;
g F FiF-ar TEw g7 Question ID : 434705335
Ans Status : Answered
x B m Chosen Option : 2
x 9 a@% Marks :0.00
v 5 3eadeE
X 4 g
.6 .
W ST § @ Fi9-ar o a=mE B Question ID : 434705339
Ans i Status : Answered
x 133 |Ei! Chosen Option : 3
x 2 Foed Marks :1.00
o,
v AR
X 4 HTET
7 : .
O Grdrer F Fa- I P Question ID : 434705336
Ans 1. IoT Status : Answered
x Chosen Option : 2
v & Marks :1.00
X o
X 4 90T
.8
O T @ REw g Question ID : 434705343
Ans ;ﬁ. Status : Answered
J " 2 Chosen Option : 1
Marks :1.00
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K 4 FqIT
9 5 +
a ‘ﬂm ﬁ Elﬂa‘rl'-lﬁ' 'HT?-T %-7 Question ID : 434705337
Ans Status : Answered
( B ﬁ'{:ﬁﬁ' Chosen Option : 2
X2 & Marks : 0.00
< 3 9o
=)
10 :
O ST F @ Fa-mr s et 22 Question ID : 434705344
Ans Status : Answered
X faw Chosen Option : 2
v 2 T Marks :1.00
PaSERE: r-ry
X4 HTT
M AT ATT F F T o o= gem: Question ID : 434705345
Ans x 1. TTTH Status : Answered
Chosen Option : 2
X 2 dgreRToT Marks : 0.00
X3 T
v aEaEeE
atz FIA-TT IFT Y 2 Question ID : 434705338
A Status : Answered
ns X 1. g3a3rg ﬁ' @ %| Chosen Option : 3
Marks :1.00
X o TH Eas 9€ @ o e
V'3 e B gl FEF o SmaT
& 4 IFRT ot ST B AT gl
at FIA-HT g TN 27 Question ID : 434705330
Ans Status : Answered
x B iaEI;E Chosen Option : 3
X 2 YT Marks :0.00
%
X 3 HAR
4 3EERT
A4 .
W SafafaT & Fie-ar a9 I3 I 2 Question ID : 434705329
Ans E Status : Answered
“ E r‘:‘:“ =Y gﬁ- Chosen Option : 1
Marks :1.00
X 2 IR W 18T o1
X s I ;AT o
X 4. I FATTIM
A :
T Pa-ar reg Tarerwor =& 87 Question ID : 434705333
Status : Answered

Ans
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Chosen Option : 3
1. ﬁ?@'ﬁ-{
x Marks :1.00
X2 g
Vo gH
X4 g
R T 'ﬂglé' FHor 984T ﬂ%’ﬁi’ FT HEr FY BN Question ID : 434705346
Ans Status : Answered
?( 1. ﬁ? qI ﬁ 3-11?{ ﬁT{HT Chosen Option : 2
i Marks :1.00
v 2 FTH Y gId & ST 7=
& 3. grer 38 ST
X4 W WE oA
1 4 i
Q17 meEg # @ Sia9-4r e, qﬁ" F qUTIETET Flﬁ %—7 Question ID : 434705342
Ans Status : Answered
1.
x 'QB' Chosen Option : 3
x 2. ﬁ?q' Marks :1.00
s gHA
K4 Te
.18
O S ¥ ofiaR e ST & TEY 3 e Question D : 434705347
Ans Status : Answered
X 1. Teh '\Ifr EE_ h q;”l ATell<h Chosen Option : 4
: - Marks :1.00
X2 FEE-=ee & SFReR g 9eT §
X 3 T & it o gler
v 4 e Remmadr e
an FIA-HT g Thaaa Adl 87 Question ID : 434705331
Ans ) Status : Answered
« B ﬁuil Chosen Option : 2
K2 T Marks : 0.00
< 3 TSH
X4 g
O ST F o Fia-ar o= A g7 Question D : 434705341
Ans Status : Answered
X B E Chosen Option : 4
&< 2. 3TIm Marks : 1.00
X 3. HTCAT
v o3
Section : Current Affairs
Q.1 =% 2017 & wgea T e, I o FEpaT weA (T & RS & W F R e
B ITT W Question ID :434705375
Ans x 1 ﬂﬁﬁﬁ ﬁTF[ Status : Answered
Chosen Option : 4
Marks :1.00
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X 2. ZHSAT dreRrar
X 3 HIBRRT Acg T
v 4 AT TR
Q.2 o A 5
In the economic jargon, what does the acronym LIBOR stand for? Question ID : 434705363
Ans o 1. London Interbank Offer Rate Status : Answered
T Ch Option : 3
X 2. Liability Induced By Older Rates osen pron
Marks :0.00
# 3. Labour Interest Balance Of Revenue
& 4 Laws In Base Order Rates
Q3 Where is the Asteroid Belt located? Question ID : 434705366
Ans 1. Between Earth and Jupiter Status : Answered
" Chosen Option : 2
< 2. Between Jupiter and Uranus Marks : 0.00
< 3. Between Jupiter and Saturn
' 4 Between Mars and Jupiter
Q4 Where does river Krishna originate? Question ID : 434705352
Ans ( 1. Western Ghats Status : Answered
; Chosen Option :1
X 2. Kashmir Marks :1.00
/< 3. Himalayas
& 4. Eastern Ghats
Q.5 How many representatives are in the Rajya Sabha from the state of Tamil Nadu? .
Question ID :434705357
Ans x 1. 20 Status : Answered
X 2. 10 Chosen Option : 2
® Marks :0.00
V3 18
X 4 80
Q6 _-
ZE A F w57 T off = Jrar 872 Question ID : 434705350
Status : Answered
Ans =
X1' 3|Eigﬁ|ai 3”3‘!5!“ Chosen Option : 2
«2_ THF T Marks :1.00
X 3 TEns HEed
X 4 BIH T HEET
Q7 .
HEST IET=AT &1 AT 8 2w 272 Question ID : 434705364
! Status : Answered
Ans +
Vi A waaT F R A AN IAT Chosen Option : 1
i = Marks :1.00
X2 goeel F ALY T
Xegam iR AT fr T A ofmaa @
X 4 giast & 7 3R g T @ W
Q.8 The bacterial cells that are found in animal and plant cells lack which of the following?
A i Question ID :434705365
ns
« 1. Orgaﬂdles Status : Answered
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X 2. DNA Chosen Option : 2
32 Marks :0.00
X 3. Mobility
& 4. Cell walls
Q.9 . -
AT FFEGEE et &% eI & TT Fi T F 82 Question D : 434705358
Ans Status : Answered
x 1. EQT 3'ﬁT m Chosen Option : 2
Marks :1.00
v o grer 3R e
X3 FEd T O
X 4 Frem 3T TFS
Q.10 Who is the author of the book "Interpreter Of Maladies"? Question ID : 434705369
Ans  of 1. Jhumpa Lahiri Status : Answered
: ; Chosen Option : 3
/< 2. Rohinton Mistry Marks : 0.00
&< 3. Vikram Seth
/< 4. R. K. Narayan
Q.11 +
e I dtudr s %"7 Question ID : 434705372
Status : Answered
Ans ﬁﬁ?—ﬁ Em
x 1. Teh _:iu 1Y Chosen Option : 2
Marks :1.00
v 2 e gfafss 9T o
X 3w 9faE adT T
X 4w gfE whiEsr
Q.12 What is the definition/ full form of EMI in economic terms? Ouestion |D : 434705362
Ans o 1. Equated Monthly Installment Status : Answered
x > B i Namiiie i t Chosen Option : 2
= RN TRere Marks : 0.00
X 3. Equal Monthly Increase
X 4. Equated Monthly Income
Q_ 413 Ineconomics and finance, the situation where a shock in a particular economy or region spreads out and affects other
economies by way of, say, price movements is called as: Question ID : 434705361
Ans ( 1. Contagign Status : Answered
: g Chosen Option : 3
X 2. Clearing price Marks - 0.00
X 3. Crowding out effect
< 4. Catch up effect
Q.14 The design of the court seal of the Supreme Court of India is a reproduction of which famous monument?
Ans ( Question ID :434705359
B . ] Status : Answered
The wheel of the Sarnath Lion capital of Ashoka Chosen Option : 1
. Marks : 1.
X 2. The Taj Mahal arks :1.00
&< 3. India Gate
< 4. The Gateway of India
Q.15 . g . . . ) a
Which cities does the national highway NH1 connect? Question ID : 434705354
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Ans  of 1. Uri - Baramulla - Srinagar - Kargil - Leh Status : Answered
Chosen Option : 1
/< 2. Agra - Indore - Dhule - Mumbai Marks :1.00
/< 3. Delhi - Agra - Allahabad - Kolkata
/< 4. Thane - Pune - Bangalore - Chennai
Q.16
oy A F I W FiT T 9= 06T g 27 Question ID : 434705353
Ans x 1. a.m Status : Answered
Chosen Option : 2
v 2 arrear Marks :1.00
X 3 Fﬂ?’l’
X 4. TART
Q.17 v~ S W F et @ 1 afwan g - el 89 # ewRdT gEn 60 I F Eeifid F
e FT fomm wmaw 2 Question ID : 434705377
Ans Status : Answered
1.
x 70 a.é- Chosen Option : 2
V2 g5 g% Marks : 1.00
X3 75 g%
X462 F%
Q.18 : :
FIT  SRAT T FAA F SRS F Sl 7 FaT S 82 Question ID : 434705349
Ans Status : Answered
1. amné- rrore g
( Chosen Option : 1
X 2. TITeT FEIGT ATE Marks :1.00
/<3 el 3-1?4'3'74' TR T
X 4. greTsaTe AR
Q.19
ooy @ 9Ra &9 8= 73T or? Question ID : 434705351
Ans « 1 .{942 Sta?us :Answered
Chosen Option : 3
< 21932 Marks : 0.00
< 31915
< 41910
Q.20 : . -
T H HAATY AT Far g 22 Question ID : 434705355
Status : Answered
Ans m
x T Chosen Option : 4
x 2 m m!- Marks :1.00
X3 FemEE
Vi STFR T FIEHT
Q21 11 which of the following does sound travels fastest? Question ID : 434705368
Ans ( 1 Aluminum Status : Answered
Chosen Option : 1
# 2. Rubber Marks : 1.00
X 3. Water
X 4 Air
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Question ID : 434705371
Ans x 1 ﬁT-ﬁ‘QT m Status : Answered
Chosen Option : 3
x 2. Eiﬁ AT Marks :0.00
X 3. Seoly, TH. TATHIATSS
v 4 NI, &, ARTIOT
Q.23 . ;
Toca AT & AT Rgaey F grags Hia §7 Question ID : 434705370
Status : Answered
Ans hd
( " qaa—oﬁ Chosen Option : 1
x 2 :Fl's'ﬁ' a;ﬁﬂ' Marks :1.00
A e
&< 4 e iR
Q.24 * o
HETCHT TMedT ST = Fgl g3 qT? Question ID : 434705348
Status : Answered
Ans x 1. Fl'%'ﬂ'ﬁ;,"', AL Chosen Option : 3
= Marks :1.00
X 2 ZTAREE, 3cal T T
v 5 9REET, =T
A= I CE AR Ry
Q.25
=T AT & T HT eUTAT Hid FLar g2 Question ID : 434705356
Status : Answered
Ans
(1' ARG hT 35T ; IEEI Chosen Option :1
x 5 T % Marks :1.00
X 3 HE Fr Gearardr arél #r vewey
X4 T H T
Q.26 Sushila Chanu Pukhrambam is currently (as of October 2017) the captain of Indian women’s national
team in which sport? Question ID : 434705374
Status : Answered

Ans o' 1. Hockey

Chosen Option : 4
& 2. Football Marks :0.00
X 3. Cricket
< 4. Volleyball
27 :
O et F SEeE F HET I 4T g g2 Question ID : 434705367
An Status : Answered
* X g § FAr 9T FE Chosen Option : 4
x 2 Marks :1.00
ST 3T FET sEsieaes w7 BREE
X 3. Tofeplsl HATGA AT
v 4 S 3t gfEar # T oafEes
Q.28 When the Women's Cricket Association of India was formed? Question ID : 434705373
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Ans X 1. 1979 Status : Answered
( > 1973 Chosen Option : 3
' Marks :0.00
X 31978
X 41975
Q.29 Which phrase has been chosen as the “word of the year 2017” by Collins Dictionary?
Question ID : 434705376
Ans X 1. GOAT (Greatest of all time) Status : Answered
Chosen Option : 2
v 2. Fake news P
Marks :1.00
X 3 Keep it 100
X 4 My new "Aesthetic"
Q.30 What measures, changes in the prices paid by consumers for a basket of goods and services?
Ans Question ID :434705360
# 1. Consumer Purchase Index Status : Answered
' 2. Consumer Price Index Chosen Option : 4
Marks : 0.00
& 3. Consumed Goods Index
x4
Index of Consumer Price of Goods and Services
Section : Reasoning and Numerical Ability
Q1 Tdentify the next term in the below series. Question ID : 434705380
Status : Answered
4D, 6F, 8H, 107, Chosen Option : 4
Marks :1.00
Ans X1 14L
X2 12K
X 3 14K
v 4 121
Q.2 & ¥ Rwedt F ¥ & aow d v e ver @ FEoe §) 38 Reew =1 907 1 S i O
et & B ¥ Question ID : 434705385
Ans x 1 ﬁ ? Status : Answered
Chosen Option : 4
< 2 TR Marks :1.00
X 3. TEEER
CER i
Q3 ‘Which of the following words CANNOT be formed using the letters of the following word using each letter in the word
only as many times as it appears in the given word? QUeStiOn 1D : 434705399
R GRS Status : Answered
Ans o 1. NEARNESS Chosen Option :1
x 2. ESSAY Marks :1.00
X 3. SCENERY
# 4 RECESS
Q4 SEafaET o T 3999 EEeT 5
e A i 3 & o Question ID : 434705378
Status : Answered
AT - THS WA ? Chosen Option : 4
Ans ( 1. Fel Marks : 0.00
X2 Mg
X3 mg
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Q.5 - : .
Identify the odd option from the below. Question ID : 434705397
Ans ( 1. 63 Status : Answered
Chosen Option :1
X 213 Marks
arks :1.00
X3 23
X417
Q.6 wRr #1 oftewr wwa gy, A e § aw A R & gl o f gwech T ¥ e oo @
Far wEy §? Question ID :434705384
Ans Status : Answered
1. g
x 3 Chosen Option : 3
( 2. HIEaT Marks : 0.00
X 3 g8
X 4 grdr | AT
Q.7 af WINTER = VIOUER # #ifed far = &, & SPRING & T &1 #i12 gem? i
A Question ID : 434705402
ns ( . RPSJNG Status : Answered
x 2. RSPJ NG Chosen Option :1
Marks :1.00
< 3 RPSNJG
# 4+ RPQERG
Q8 Find the missing terms in the below number series. Question ID : 434705392
Status : Answered
6, 11, 16, 21, . . 36,41 Chosen Option : 3
Marks :1.00
Ans X 1. 25,31
X 226,30
'3 26,31
X 425,30
Q.9 e #, IR T & M # I F ¥ I v BRI Fiw ¥ v § AR o we ae .
T TR H T TEC S T A i ¥ s Question ID : 434705391
Status : Answered
( &) Chosen Option : 2
e C@ % & Marks :1.00

Ans

e}

V2 &
X3 C&)

file:///C:/Users/1030832/Downloads/Qp.html#

16/34



03/03/2018 Qp.htmi#

)

X 3.

)
v @
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X4
Q.10 - =
Find the missing term. Question ID : 434705407
Status : Answered
= ks Chosen Option : 4
1000, 1100, 990, 1089,
Ans x 1. 099 Marks : 0.00
v 2 980.1
X 3. 9801
X< 4. 989.1
Q.11 . '
=T 7 ¥ @ww 9g &1 9a1 #1| Question ID : 434705396
Ans " i Status : Answered
x 54-9 Chosen Option :2
v 2 60-12 Marks :1.00
X 3 36-6
X 4 42-7
Q.12 ¢
Tun e Fr ug=T F:i Question ID : 434705383
Status : Answered
Ans =
x T 2 Chosen Option : 2
( 2 :FI'IERIEI' Marks :1.00
X 3. AgrET
X4 Shag
Q.13 F=fefEa moa & IR 927 Al & PR R F ymE F e § et A v sm T
T T FT S e gl & erper T £l Question ID :434705404
. Status : Answered
i - Chosen Option :1
7 N ﬁ N Marks :0.00
/ /L\\ L L / J
i || e bt S
Ans
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Q14 B ger =ea a1 ¥ gefvg &, 339 gor At Foe de9eg &2
Ans x1_ qﬁF_r

Question ID
Status

1434705393
: Answered

Chosen Option : 3
XZ' Qii;” Marks :1.00
Vs R
X4 P
Q.15 : :
Troag 7 ¥ BvA Seeg & 9g=a #:1| Question ID : 434705394
Ans ( ! Status : Answered
’ ﬁe\?:lm Chosen Option : 1
x 2. m Marks :1.00
X 3 SIS
X4 =T
Q.16 = TR¥a #15 o #, weal F 7o AV Fz T & W ¢ Sew wH i G 481 @ oad
‘hard work pays’ ‘246’ 31 ‘work is worship’ 3T ‘698" & 31 ‘worship also pays’ ¥l ‘is’ ¥ fw Question ID : 434705398
B EL AR S SR Status : Answered
Ans 1.1 Chosen Option : 4
( 5 2 Marks :0.00
<36
X4 4
Q.17 T=fefEa wea &, 97 Fea el tF AtTT R @ @ J defRT & Rl F ¥ W@ &
Hp T BT S T A & g WA E Question ID :434705403
. Status : Answered
e ) Chosen Option : 3
. x N SN Marks :1.00
\)X Z v 7 < \..
Ans
F !
X2
v
X4
Q.18 = fow 71w fwodt #, I weg TT Tt H WA § AN TF 96 IO §1 3W 96 F WA HE, oA 99
aret B ¥ B Question ID :434705389
Ans x " .Eng.r - MNEgEeT Status : Answered
: Chosen Option : 3
X 2. a;rﬁa’ - A5 Marks :1.00
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X 4 Rfgr - giger
Q.19 - ¢
e &1 A W H e 9g AT HIAT Question ID : 434705379
Status : Answered
Chosen Option : 2
BvF, DyJ, FbN, HeR Marks :1.00
Ans 3 1. JuV
v 2 Jhv
< 3 JvH
X 4 JgH
Q.20 e b d — s
If23=8,25=32,42=16,then 44 =? Question ID : 434705401
Ans x 1. 88 Status : Answered
( 2. 256 Chosen Option : 3
X 3 06 Marks :0.00
X 4250
Q.21 ¥ sz o & 997 =i O@F ST OF 38T e F AT g o FeN & Hey .
5 o ;‘;ﬁ e Question ID : 434705405
’ Status : Answered
S=atarg : FeReT (Ignite : Light) Chosen Option : 2
A Marks :1.00
" X . gfgar : %X (Wheel : Car)
v 2 e - @592 (Cling : Attach)
X 3. gifeg : @r 24T (Gain : Lose)
X 4 TRST : 95 geaT (Attract : Repel)
Q.22 IfMART is coded as 2179 and SLIT is coded as 8539, how will TRAIL be coded? .
A Question ID : 434705381
ns ( 1. 97135 Status : Answered
X 2. 97351 Chosen Option : 1
X3 07153 Marks :1.00
X 4. 91735
Q.23 fawedt # & 30 weg 1 TuA AT Brgwr #F Fvsst F = 1T F w= F @ T .
Question ID :434705388
FINAL (..) ULTIMATE Status : Answered
Ans v’ 1. END Chosen Option : 2
Marks :0.00
< 2 FINISH
# 3. DEAD
< 4 LAST
Q.24 st are &1 a6 ¥ a1 39 v BT @ wEer §, A oo & g € wer s E e # o e
a1$ 3 T §2 Question ID :434705387
Ans : Status : Answered
x 3 4 Chosen Option : 3
Marks :1.00

X2 4 984 #R 5 o715
v 5 FEr ot &
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Q.25 Ry =1v FEACHF W & HUR W, A Y aw Fwedt & T seal I

Question ID :434705382
3 s B Belh Status : Answered
Chosen Option :1
Ans 1
J 64 Marks :1.00
<220
<3 14
<416
Q.26 I AFTaT +, BF aF X, C oy w IR Darut ¥, A 18B12A 4 C 5D 6 AT &7
grm? Question ID :434705400
Ans x 1. B0 Status : Answered
Chosen Option :2
( 2. 53 Marks :1.00
X3 46
X 4 35
Q.27 = - = s
B s E il R R T Question ID :434705395
Ans .
x 1. '?l:_:l' Status : Answered
Chosen Option : 2
v 2 9 Marks :1.00
X 3 oS
X 4 =M/ ATAT [ BT/ AT
Q.28 o
el S Prafafd F=aT & T & Question ID : 434705390
Status : Answered
(8, 24, 40) Chosen Option :2
Ans Marks :1.00
X1 (7, 13, 29)
V2 (6, 12, 20)
< 3. (10, 20, 25)
X4 (9, 27, 28)
Q.29 - : * ¢
AT H ?i"%’ g&EIT AT F Question ID : 434705406
Status : Answered
Chosen Option : 4
376, 184, 88, 40, 16, _  , -2 Marks : 1.00
Ans x 1.2
<216
X3 8
v 4
Q.30 T v fawedt & § & HOW F v ARTT TP @ A §1 30 Heed # T@ FU S 3T A
et & B 31 Question ID :434705386
Ans x 1. FIIATE Status : Answered
Chosen Option :2
v o aifefa Marks :1.00

X 3. ShfEssr
K 4 FEIEd
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Section : Subject Specific

Q.1 Which type of scheme is the Universal Decimal Classification?

Question ID :434705443
Ans ( 1. Almost faceted Status : Answered
4 Chosen Option : 2
& 2. Almost enumerative
Marks :0.00
X 3. Fully faceted
& 4 Enumerative
Q. 2 In which .of the following, the activities are shown as a network of precedence relationships using activity-on-arrow network
construction? Question ID : 434705456
Ans 1. Decision Tree Analysis Status : Answered
Chosen Option : 1
2. TQM
x Q Marks :0.00
v 3. PERT
X 4 CPM
Q.3 Which type of service is “Shodh Gangotri: a repository of Indian research in progress™?
A Question ID :434705477
ns ~ i
( 1. Alertmg service Status : Answered
# 2. Review service Chosen Option :1
Marks :1.00
< 3. Referral service
X 4 Document delivery service
Q4 Agperthe classiﬁcati_on prescribed by S. R. than, ‘a record of ph made directly, diated by human
el L Question ID :434705464
Ans  of 1. Meta-documents Status : Answered
# 2. Non-conventional Chosen Option :3
Marks :0.00
& 3. Neo-conventional
& 4. Conventional
Q.5 International Federation of Library Associations and Institutions (IFLA) was established in the year:
Ans ( Question ID :434705421
11927 Status : Answered
?( 2. 1895 Chosen Option :1
x 3. 1938 Marks :1.00
X 4. 1876
Q6 tiai w8 a :
In Colon Classification, experimenting is a/an: Question 1D : 434705440
Ans Status : Answered

' 1. Posteriorising Personality Common Isolate

Chosen Option : 2
x 2. Marks : 0.00
Anteriorising Common Isolate (applicable only after Space facet)
/< 3. Posteriorising Energy Common Isolate
p
Anteriorising Common Isolate (applicable only after Time facet)
Q7 SeafaET | qEfTT
R e g e Question ID : 434705415
Ans .
( 1, m Status : Answered
Chosen Option : 1
X2 T Marks :1.00

X 5 fedy

X 4 FFA TF FER
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Q.S ALt '- -- " - 9
In which of the following, a multi-user operating system is used? Question ID : 434705494
Ans X 1. Embedded computers Status : Answered
( o Chosen Option :1
- ICEVELS Marks : 0.00
X 3. Desktop PCs
X 4. Hand-held computers
Q.9 : : .
What is the current version of SOUL software? Question 1D : 434705500
Ans  of 1 SOUL 2.0 Status : Answered
x 2. SOUL 1.0 Chosen Option :1
’ Marks :1.00
X 3. SOUL 4.0
X 4 SOUL 3.0
Q.10 3 3 \l oy
‘Who is the publisher of Statesman's Yearbook 20172 Question ID : 434705468
Ans x 1. Oxford University Press Status : Answered
Chosen Option : 2
X 2. Europa Publications, London Marks : 0.00
< 3. Adam and Charles Black, London
v Palgrave Macmillan, UK
Q.11 What type of information sources are the indexing and abstracting periodicals? .
Question ID : 434705465
Ans X 1. Ready reference Status : Answered
x 2. Cutrent event Chosen Option :1
Marks :0.00
X 3. Ephemeral
« « Bibliographical
Q.12 The General Theory of Classification. developed by S. R. Ranganathan, can be categorised as which
of the following types? Question ID :434705441
Ans S s B . Status : Answered
1. Descriptive theory of classification
x B 1y Chosen Option : 3
/5 2. Static theory of classification Marks :1.00
' 3. Dynamic theory of classification
& 4. Advanced classification
Q.13 Which of the following extension represents uncompressed output of data? .
Question ID : 434705502
Ans ( 1. .bﬁlp Status : Answered
X - I3 Chosen Option : 2
- JPE Marks : 0.00
X s .gif
X 4 tiff
Q.14 In Maharashtra Public Libraries Act, who is the ex-officio President of State Library Council?
Ans < . Question ID :434705416
# 1. Director of Education Status - Answered
& 2. Director of Public Libraries of the State Chosen Option : 1
. Marks : 0.00
X 3. Secretary for Education
« 4 Minister for Education
Q.15 Whi — e ice?
‘Which of the following is an example of a pointing device? Question D : 434705492
Ans X 1. punched hole device Status : Answered
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x 2 Keyboard Chosen Option : 3
Marks :1.00
' 3. Light pen
X 4 Scanner
Q.16 : 2 =
Which of the following is a feature of DBMS? Question ID : 434705501
Ans x 1. GQUI Status : Answered
cae e : Chosen Option : 2
' 2. Compatibility with SQL Marks - 1.00
/< 3. Memory management
X 4 BIOS
Q17 : ; : : : oo
When did the National Library Week celebrations start in India? Question ID : 434705425
Ans X 1. 1072 Status : Answered
X 2. 1933 Chosen Option :1
Marks :0.00
X< 31958
v 4 1968
Q.18 Who has developed the ‘Guidelines on information literacy for lifelong learning’?
A Question ID :434705489
ns x 1. RUSA Status : Answered
J 2. TFLA Chosen Option : 2
X 3. ACRL Marks :1.00
X 4 SCONUL
Q.19 When an individual ought to have information for his/her work or recreation, then what it is called as?
Ans : Question ID :434705483
& 1. Information want Status - Answered
/< 2. Information requirement Chosen Option :3
Marks :0.00
< 3. Information demand
« 4 Information need
Q20 Which of the following is a book selection tool? Question ID : 434705451
Ans X 1. World Book Encyclopedia Status : Answered
Chosen Option : 3
' 2 Indian National Bibliography Marks :0.00
/< 3. Ulrich’s International Periodical Directory
& 4. Universities Handbook
Q. 21 What is the landmark initiative of UGC in the year 1991 for the development of information services for academic libraries?
Ans ( Question ID : 434705409
- INFLIBNET Status : Answered
< 2. INFONET Consortium Chosen Option : 1
x 3. SOUL Marks :1.00
/< 4. National Centre for Scientific Information
Q.22 When the user is helped to understand the subject coverage of chemical abstracts, then what it is called as?
Ans ( : Question ID : 434705488
' User assistance Status : Answered
x 2. TUszer education Chosen Option : 3
Marks :0.00

/< 3. User orientation

< 4. User advisory

Q.23 Which of the following can be categorised under the fifth generation of computers? [
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Ans X' 1. VLSI
& 2. Vacuum tubes

Question ID
Status

1434705491
: Answered

Chosen Option : 3
v 5 Artificial intelligence Marks :1.00
&< 4 Transistors
Q.24 - : 0
Who, among the following, was the first to develop UDC? Question D : 434705446
Ans x 1. Melvil Dewey Status : Answered
Chosen Option : 4
< 2 H.E.Bliss Marks :1.00
& 3. E. C. Richardson
« 4 Paul Otlet
Q. 25 The catalogue in which some entries are in the form of number entries and some in the form of text entries is called as:
Ans : Question ID : 434705430
X 1. Title catalogue Status : Answered
X 2. Dictionary catalogue Chosen Option :4
Marks :1.00
< 3. Author catalogue
' 4 Classified catalogue
Q.26 - . . . . . l')
Which of the following is a unit for measuring bandwidth? Question ID : 434705505
Ans J 1. Bits Status : Answered
i Chosen Option : 1
2.
X Amplitucie Marks :1.00
X 3. Hertz
X 4 Bauds
Q.27 Which among the following provides translation service for science and technology documents in India?
Ans : Question ID :434705476
( 1. NISCA]R: Delhi Status : Answered
< 2. Central Institute of Indian Languages Chosen Option : 1
Marks :1.00
/< 3. Centre for Science and Environment, Delhi
#< 4. National Library, Kolkata
Q_ 28 In calaloguix.lg. which law directs lh?t. between two or more possible alternative rules bearing on a particular phenomenon,
the one leading to overall economy is to be preferred? Question |D 434705433
Ans  of 1. Law of parsimony Status : Answered
; L Chosen Option : 1
< 2. Law of impartiality Marks -1.00
< 3. Law of interpretation
& 4 Law of symmetry
Q.29 . AN TR F FER, Teal T S Eee W AR WA & G0 §, ik e s
# T F ] AL ET T @F, F AT T T E? Question ID :434705473
Ans Status : Answered
1. HIRTT YTah %’Q’ AT 'HE'I'-‘JI?IT
( " # Chosen Option : 3
X 2 T HeEt |ar Marks : 0.00
X o FUAIET B YEIATT
X 4 STl T e
Q.30 Who among the following was associated in planning Baroda Central Library in 1910?
A Question ID :434705412
ns <114
« ' William A Borden Status : Answered
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< 2. Asa Don Dickinson Chosen Option : 1

Marks :1.00
< 3. Gopal Rao Ekbote
X 4 A A A Fyzee
Q.31 Which of the following operating systems is machine-independent and open-source?
A wa = . pen Question ID :434705495
ns X 1. MS Windows 7 Status : Answered
x 2. Apple MAC O8 Chosen Option : 1
Marks :0.00
& 3 IBM Z/VM
v 4 Linux
Q.32 What is the essential feature of WORM compared to other optical storage media?
Question ID :434705493
Ans x 1. It COIIes 01 a dlSk Status : Answered
X 2. It has higher storage density Chosen Option : 3
Marks :1.00

v Recording once done is irreversible

< 4. Recording can be digital

Q.33 1 i i 3 [ tE] 2
Which of the following TQM techniques prescribes “80/20" rule? Question ID : 434705458

Ans J 1. Pareto analysis charts Status : Answered
; Chosen Option : 1
& 2. Histogram Marks : 1.00

# 3. Pie charts
X 4. Fish bone diagram

Q.34 As started by J. K. Khanna, the growth of special libraries in India is directly related to:
Question ID : 434705410

Ans X 1. Growth of university education Status : Answered

Chosen Option :2

' 2 Industrial development
Marks :1.00

X 3.
Recommendations of Committees/ Commissions
/< 4. Independence of India

Q.35 [n Dewey Decimal Classification, the number ‘028’ stands for:

Ans

Question ID : 434705444
& 1. Libraries for specific subject Status : Answered

" . Chosen Option :1
/< 2. General libraries

Marks : 0.00
X 3. Library operations

v

Reading and use of other information media

Q.36 <pp; ' s : I -
Point system’ is associated with which of the following? Question ID : 434705449

Ans X 1. Job description Status : Answered
. Chosen Option :2
v 2 Job evaluation Marks : 1.00

X 3. Job performance
< 4. Job specification

Q37 File management is a function of: Question ID - 434705496

Ans x 1. Utjlity software Status : Answered
Chosen Option : 1
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& 2. Middleware l Marks -0.00
X 3 GUI
' 4. Operating system
Q.38 In Classified Catalogue Code, ‘specific added class number entry” in a classified catalogue is defined as:
Ans . Question ID :434705438
X 1. Book index Etltl'y Status : Answered
' 2. Cross reference entry Chosen Option :2
Marks :1.00
X 3. Cross reference index entry
X 4. Class index entry
Q.39 =t ¢ - . )
The management principle ‘Esprit de corps’ means: Question 1D : 434705448
Ans ( 1. Group Spii“it Status : Answered
Chosen Option : 3
/< 2. Replacing the rule of thumb with science Marks : 0.00
X 3. Development of workers
X 4 Discharge of responsibility
Q_40 ‘What is the type of service that actually takes information to the user, preferably before he/she formulates a demand for it?
Ans : : Question ID :434705474
# 1. Information retrieval Status : Answered
& 2. Document retrieval Chosen Option : 4
Z . i i Marks :0.00
v 5. Information dissemination
# 4. Information and referral
Q.41 What is the term of protection of copyright for a literary work in India? Question ID : 434705418
Ans 1. 60 years from the year of publication Status : Answered
x 2 Chosen Option : 3
: s : ; Marks :1.00
50 years from the year in which the author of the literary work dies
v
60 years from the year in which the author of the literary work dies
< 4. 50 years from the year of publication
Q.42 From which year did AGRIS, a global public domain database. became operational?
A Question ID : 434705481
ns X 1. 1064 Status : Answered
W 2 1975 Chosen Option : 2
x 3. 1967 Marks :1.00
X 41971
Q.43 When a tear in a page or a tipping on a loose leaf is repaired, it is called as: .
Question ID : 434705455
Ans X 1. Re-casing Status : Answered
. 2 Chosen Option : 2
2.
x RE]ﬂfGI‘C]Ilg Marks :0.00
v 3. Mending
X 4. Re-backing
Q.44 When the user requires almost all relevant literature on a subject, such approach is called as:
A Question ID :434705487
ns :
x 1. Cat‘:hlng up apprUaCh Status : Answered
z Ch Option : 1
«' 2. Exhaustive approach osen pton
Marks :0.00
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X 2

Q.45 : S e T iond
What is meant by ‘cardinal value’ in the context of notation? Question ID : 434705445
Ans X 1. Concept that refers to semantics Status : Answered
5 o 5 Chosen Option : 2
' 2. Quantitative value that each digit possesses Marks - 1.00
< 3. Type of notation used
/< 4. Position of a digit in series
Q.46 is Li i i ience?
What type of database is Library Literature and Information Science Question ID : 434705480
Ans X1, Abstracting Status : Answered
3 Chosen Option : 1
2. F
& 2. Archival Varks . 0.00
X 3. Full-text
« 4 Indexing
Q.47 : : ; . :
When Sears List of Subject Headings was first published? Question ID : 434705435
Ans x 1. 1925 Status : Answered
Chosen Option :2
2. 1891
x Marks :0.00
V31923
X 41898
Q.48 - g : : :
Unpublished theses and dissertations are categorised as: Question ID : 434705466
Ans X 1. Secondary literature Status : Answered
Chosen Option : 4
X 2. Tertiary literature Marks :1.00
/< 3. Ephemeral literature
v Grey literature
Q.49 Rie ¥ semgim goan Suve § FUEiEwT & PEfrEE § ¥ s T vs aRads & w9 # aig
o o T 2 Question ID : 434705457
Ans ( 1 + E ﬁ ﬁ F{' Status : Answered
Chosen Option :1
X2 g Tefas TRieufe Marks :1.00
X3 F gl aRiEfa
K4 i affeufa
Q.50 Which university in Maharashtra was the first to start training in Librarianship? .
Question ID : 434705423
Ans 1. R. T. M. Nagpur University, Nagpur Status : Answered
i ‘ 7 Chosen Option : 3
v University of Mumbai P
Marks :0.00
X 3. SNDT Women’s University, Mumbai
X 4. University of Pune, Pune
Q.51 :
ODLIS stands for: Question ID : 434705470
Ans  of 1| Status : Answered
Online Dictionary of Library and Information Science Chosen Option : 2
Marks :0.00
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Q.52 Who among the following is the first to outline the objectives and means of cataloguing?

A Question ID : 434705431
ns
« ! Charles A. Cutter Status : Answered
x 2. S.B. Rangalmﬂlall Chosen Option : 1
. Marks :1.00
X 3. Berwick Sayers
< 4. Seymour Lubetzky
Q53 EE F T Faa afarse
S S T Question ID : 434705408
Ans (1. Bafa a9 Status : Answered
Chosen Option : 4
X 2. TEABTET &cer Marks :1.00
X 3 Tge HT HET HichTied AT
( 4.
FTEE HR TEeE & e A wgdeT see weer
Q.54 Which of the following organisations provides ‘Directory of Public Libraries®? .
Question ID : 434705424
Ans 1. Indian Public Library Movement, Delhi Status : Answered
: 2 . Chosen Option : 2
X 2. Delhi Public Library System g
Marks :0.00
X 3. Central Reference Library, Kolkata
v
Raja Rammohun Roy Library Foundation (RRRLF), Kolkata
Q.55 - “Li T - = o
Who is the author of “Library Buildings: Planning and Design™? Question ID : 434705462
Ans X 1. 8. R. Ranganathan Status : Answered
X 9 Chosen Option : 4
- B. 8. Kesavan Marks :0.00
v 3 P.N.Kaula
/< 4. Rajwant Singh Chilana
Q.56 The UNESCO Public Library Manifesto, renovated in 1994, was prepared in the co-operation with:
Ans y Question ID : 434705411
x T L1brary GfCOﬂg:t'ESS Status : Answered
( 2. TFLA Chosen Option : 3
Marks :0.00
X 3 FID
& 4 OCLC
Q.57 h
What is a user profile? Question ID : 434705486
Ans ( 1. Status : Answered
Characteristics that influence user information habits Chosen ?Apt'ok” : : o0
arks 1.

# 2. Biodata of a user
& 3. List of documents required by the user

& 4. List of documents retrieved by the user
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Q.58 Which of the following is the “principle of facet sequence™? Question 1D : 434705442
Status : Answered
Ans - -
1. -
' 1. Cow-Calf principle Chosen Option : 1
X 2. Principle of later in time Marks : 1.00
X 3. Principle of literary warrant
X 4. Principle of earlier in time
Q.59 : :
What is a shelf list? Question ID : 434705453
Ans x 1. Book order card Status : Answered
( 9 Chosen Option : 2
' 5 - Marks :1.00
Catalogue with entries sorted by call number
X 3. Copy of main entry card
X 4. Catalogue entries of special collection
Q.60 ¢ 2 i i i in?
Who suggested “Seven Lamps of conduct’ as ethics of librarianship? Question ID : 434705420
Ans ?( 1. B. M. Headicar Status : Answered
& 2. William B. Paton Chosen Option :1
. Marks :0.00
v 3 R. L. Mittal
X 4 A.K. Mukherjee
Q.61 " . . .
Which of the following is a property of the main memory? Question D : 434705498
Ans x 1. Ttis pertable Status : Answered
. . Chosen Option : 2
v 2. Tt is volatile Marks : 1.00
X 3. It has a very long life
X 4. It has large capacity
Q62 Which 1aw_, among the_ “five laws of library science”, counsels that “Do not select books of a standard not suited to majority
eEa e lorallye Question ID : 434705413
Ans 1. 15t Law Status : Answered
( 4 Chosen Option : 2
Ti -
2 3% Law Marks : 1.00
x 3. zﬂd Law
K4 gthy aw
Q.63 Which of the following statistics are the ‘most proper form to know the tastes, antipathies and reactions of the readers’?
Ans . Question ID :434705463
x 1. Serial control Status : Answered
/< 2. Technical section Chosen Option :3
2 . : Marks :1.00
v = Circulation section
X 4. Acquisition section
Q.64 Which budgeting process starts from “scratch” with the proposed activities for the year?
A Question ID : 434705460
ns :
( 1. Zero-based bu'dgemg Status : Answered
X 2. Performance budgeting Chosen Option : 1
Marks :1.00
< 3. Programme budgeting
< 4. Formula budgeting
Q.65 Which of the following is a service that helps one with gaining current awareness knowledge?
Question ID : 434705479

Ans
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x 1. Digests Status : Answered
; Chosen Option : 4
< 2. Extracts Marks :1.00
X 3. Indexes
' 4. Newspaper clippings
Q.66 ; e o 5
Which of the following is a component automated acquisition module Question ID : 434705503
Ans x 1. Inter library loan Status : Answered
5 Chosen Option : 2
2.
W 2. Authority file Marks :1.00
& 3. Customised member card
/X 4 Member category
Q.67 « ) : 4o L 5
Algebra’ can be categorised as which type of subject” Question ID : 434705428
Ans x 1. Cumpmmd Sl_lbj ect Status : Answered
. Chosen Option :1
/< 2. Primary basic subject Marks : 0.00
' 3. Non-primary basic subject
X 4. Complex subject
Q.68 . : : :
NASSDOC was established in the year: Question ID : 434705482
Ans x 1. 1967 Status : Answered
x ) Chosen Option :1
- 1969 Marks : 0.00
X 31953
W 41970
Q. 69 Inthe three c.a:d .sysrtmvfm periodical control, which card is used for recording ‘entries relating to the volume, issue and the
s fmplicaiogec Question ID : 434705454
Ans J 1. Register card Status : Answered
x 5 : ’ Chosen Option : 3
- Classified index card Marks - 0.00
& 3. Check card
& 4. Classified card
Q. 70 According %0 Delivery of I.hmks an.d Ne-ws.papers (Public Libraries) Act, 1954, India, what is the time limit to deliver books
by the publisher to the designated libraries? QUeStiOn 1D : 434705417
Ans K145 days Status : Answered
} Chosen Option : 1
< 2 15 days Marks : 0.00
W3 30 days
X 4. 60 days
Q.71 i T T 00
Which of the following is a standard for descriptive cataloguing? Question ID : 434705434
Ans 3 1. 730 50 Status : Answered
( 2. RDA Chosen Option :1
. Marks :0.00
X 3. 08I
X 4. ISO 2709
Q.72 Who among the following described the 3-fold purpose of reference interview? .
) Question ID : 434705471
Ans X' 1. R. L. Collins Status : Answered
v 2 William A. Katz Chosen Option :1
Marks :0.00
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Q.73 Which of the following features of OPACs has enhanced their use over traditional catalogues?

A _ . _ Question ID : 434705437
ns X 1. Sorting process is static Status : Answered
( 2 Chosen Option : 3
£ : - Marks :0.00
Search facility is available under any element
Xs
No need for punctuation between elements in bibliographical description
X 4. No need for media qualifiers
Q_ 74 whi.ch year was the Committee on National Policy on Library and Information System (CONPOLIS) set up by the Govt.
oA utia Question ID :434705426
Ans 5 1.1992 Status : Answered
( 2. 1985 Chosen Option : 3
Marks :0.00
X 31991
X 41972
Q.75 2 J z
Which of the following is a feature of Web OPAC? Question ID : 434705504
Ans X 1. It is command-language-based Status : Answered
Chosen Option : 1
< 2. It is phrase-indexed Marks :0.00
< 3. It is pre-coordinated
W Ttis navigation-based
Q_76 A.ccord.ing to staff formula, which section of the university library needs to have “one person for every 50 readers using the
e B Question ID : 434705450
Ans X 1. Supervisory Status : Answered
( 5 Chosen Option :2
- Reference Marks : 1.00
& 3. Circulation
< 4 Maintenance
Q.77 - T .
Who assigns ISSN for Indian Journals? Question ID : 434705447
Ans X 1. TIS¢ Bangalore Status : Answered
i Chosen Option : 3
/< 2. Centre for Science and Environment, Delhi Marks : 1.00
' 3. National Science Library, NISCAIR
X 4 National Physical Laboratories, New Delhi
Q.78 Which combination of Boolean operators retrieves more documents? .
Question ID : 434705472
Ans ( T AORB Status : Answered
X 2. AANDB Chosen Option : 3
Marks :0.00
& 3. A AND ABNOTB
X 4 ANOTB
Q.79 2 a g g & 9
‘Which of the following characteristics of knowledge is true? Question D : 434705429
Ans " 1. Knowledge is independent Status : Answered
: Chosen Option :1
' 2. Knowledge is dependent Marks - 0.00

X 3. Knowledge is finite

file:///C:/Users/1030832/Downloads/Qp.html#

31/34



03/03/2018

X 4 Knowledge is complete

Qp.html#

Q.80 YWhich of the following is an indirect method of user study?

Question ID :434705485
Ans x 1. Operanmg research Status : Answered
) : Chosen Option : 4
X 2. Diary Marks : 0.00
'3 Analysis of library records
< 4. Questionnaire
Q.81 In AACR2, in case of works of shared responsibility, the main entry will be prepared under:
A ; Question ID : 434705436
ns :
x 1. First author Status : Answered

J 2. Title Chosen Option :1
; y Marks :0.00
< 3. Subject
/< 4. First two authors
Q.82 Which of the following methods is applicable in educating individual user? .
. Question ID : 434705490
Ans ?( 1. Lecture method Status : Answered
x 2. Guided tour Chosen Option : 3
’ y - Marks :1.00
v . Self-instructional material
# 4. Tutorial
Q.83 The process of placing one or more isolates on the parent basic subject is called as:
A ) Question ID :434705427
ns X 1. Denudation Status : Answered
( 2. Lamination Chosen Option : 3
; 2 Marks :0.00
X 3. Agglomeration
& 4. Fusion
Q.84 i i i i a7
Which of the following types of programming language is Java? Question ID : 434705497
Ans ~1. Publishing Status : Answered
3 < Chosen Option : 2
« 2. Object-oriented Marks : 1.00
/X 3. Algorithmic
X 4. Scripting
Q.85 Which of the “five laws of library science™ satisfies the services for differently abled?
N . Question ID :434705419
nsoX 1 AR T aw Status : Answered
’ Chosen Option : 3
2. sth 3
X2 sthaw Marks :1.00
J 3. 2!1:1 Law
Q.86 : - b 2
What type of information service products are the trend reports? Question ID : 434705478
Ans 5 1 Reference type Status : Answered
. Chosen Option : 4
+ 2. Evaluation type Marks : 0.00

/< 3. Location type
/< 4 Condensation type

Q.87 In which year was the Encyclopedia Britannica last print version of 32 volumes published? [
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Ans x 1. 2008 Question ID : 434705467
( 2 2010 Status : Answered
. ' Chosen Option : 3
X 3 2012 Marks : 0.00
X 42009
Q.88 ; g ; ; T
Which of the following is a viable mean for library resource sharing? Question ID : 434705414
Ans X 1. Blogs Status : Answered
. Chosen Option : 3
2. i 1
& 2. Social media arks 1,00
v 5 Consortium
X 4 RSS
Q_sg When amessage is transmitted and received over the same channel at the same time, such mode of transmission in network
envionmentis called a5 Question ID : 434705506
Ans X 1. Band width Status : Answered
x 2. Half duplex Chosen Option :1
Marks :0.00
+ 3. Full duplex
X 4. Simple
Q.90 Which of the following elements of catalogue is concerned with pagination, number of volumes, ete.?
Ans ( : Question ID : 434705432
!+ Collation Status : Answered
x 2. Note Chosen Option : 4
3 i Marks :0.00
X 3. Imprint
X 4. Series
Q-91 = ]
‘What does a small circle of a flow chart represent? Question ID : 434705499
Ans x 1. Decision Status : Answered
. ; Chosen Option : 3
< 2. Terminal Marks - 0.00
X 3. Process
v 4 Connector
Q.92 H o
Who has invented the SWOT analysis® Question ID : 434705459
Ans x 1. Peter Pyhrr Status : Answered
) Chosen Option : 4
< 2. Philip Kotler Marks : 1.00
& 3. Peter Drucker
' 4 Albert S. Humphrey
Q.93 i i i i i 7
Who is the producer of Library Literature and Information Science? Question ID : 434705469
Ans J 1. H. W. Wilson Status : Answered
: . . Chosen Option : 4
# 2. Facet Publication P
. Marks :0.00
X 3. OCLC
X 4 American Library Association
Q.94 mﬁ@mmmmﬁmmmm?mtmmxwwm
& S e e Question ID : 434705507
Ans x 1. T Status : Answered
) Chosen Option : 2
x 2. 'ﬁﬁl’ Marks :0.00
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X5 far

X 3. Index
< 4. Rules

v sg
Q_95 ‘Which type of fiscal estimation is the Kothari C: ion (1964- 66) r ion that a university should spend each
year about ¥ 25 for each student and I 300 per teacher. Question D : 434705461
Ans ( 1. Per capita method Status : Answered
x 5 thod of d 1 Chosen Option : 4
- Method of details Marks : 0.00
# 3. Formula method
< 4. Method of proportion
Q.96 Who was the first to give the concept of Selective Dissemination of Information as we understand it today?
Ans ( Question ID : 434705475
! H. Peter Luhn Status : Answered
x 2. E. M. Housman Chosen Option : 1
Marks :1.00
X 3. L.J.S. Strauss
X 4. Melvil J. Voigt
Q.97 ; 4 oo s INE L
What is meant by ‘indent’ in the book acquisition work of libraries? Question ID : 434705452
Ans J 1. List of approved items Status : Answered
. ¥ : Chosen Option : 4
X 2 List of rejected items Marks - 0.00
& 3. List of accessioned items
& 4. List of ordered items
Q.98 Who has developed the episodic model of information seeking behaviour? .
Question ID : 434705484
Ans ?( 1. Elfreda Chatman Status : Answered
x 2. T. D. Wilson Chosen Option : 3
; . Marks :1.00
+ 3 Nicholas J. Belkin
& 4. David Ellis
ngg " " " K .
Who is the publisher of Indian Library Science Abstracts? Question ID : 434705422
Ans x 1. 8IS Status : Answered
x 2 ILA Chosen Option : 4
Marks :1.00
X 3. TATLIS
v 4 TIASLIC
Q.10 N H x .
o Part3 of Colon Classification is named as: Question ID : 434705439
¥ Status : Answered
Ans  of 1 Schedules of Classics and Sacred books ,
Chosen Option : 3
< 2. Schedules of Classification Marks : 0.00
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